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AH2HCH= Top 5 1D 1W(Avg) +9lE TOP 5 1D 1W(Avg)
1 ol2|= 3x Z#{2|X| o|=xH30F ETN 2,588 3,379 2| = 3x 22X o]=5H30E ETN 7.08% -13.80%
2 tl2|= 3x H2|X| oj=xH10 ETN 1,580 812 H2l= 2fH2|X| 0]=xH30E ETN(H) 6.29% -8.20%
3 oi2l= 2| x| o]= 30 ETN(H) 276 436 2| = 0j=*30E ETN(H) 3.20% -4.05%
4 2| = 3x 2H2|X| I 30 ETN 157 373 2| = 22X ol 10E ETN(H) 2.00% -3.92%
5 of2|= QA 3X O|=%{304 ETN 142 124 2| x o]2x30E ETN 1.75% _4.46%

£l pp

7| =Xt 7S EH T YTM YIM@®%) 1D 1M Chg BEI (Break-Even Inflation) ey 0=
Hal= AE0|d I ETN Al2|= 026 -002 003 BEI (==*H-= 7t 22l =2 247 237
H2|= =109 ETN Al2|= 273 -001  -001 MUChH| -0.03 -0.23
o2l FX30E ETN Al2[= 256 -0.00 0.3 27 s =AUE psR==] 20254 4€
Halx IA3E ETN Al2|= 247 001 014 e HES 20254 23
H2|= 25 ETN Al2|= 255 000 009 HaX| 0.217%| 0.506%
H2l= oj=5 elEold I ETN(H) Al2l= 194 -0.10 -0.00 ABpAL 7| = 2.605% 6.071%
B2/ = D|=3410E ETN(H) Al2|= 431 -004 -010 <sh/0| I 109 EY 01 IR X5 L X2 EH = 2t I A HE
Hi2|x 0j2 14309 ETN(H) Al2|= 477 -008 -0.38
2= kAP 378 St ETN 262 000 029
2| = KAP 670 & S2H ETN 256 000 025
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2|(YTM)

7| £ X[ 3=3E =3 HE Z2/(YT™M) HCHd|
KR103503GA66 =7}01125-3006(20-5) 20% 0.192 -0.015
KR103503GC64 £7101625-3206(22-6) 30% 0.010 -0.025
KAP QI E2{|0]d x| TR X| _}
= KR103503GE62 =7}00750-3406(24-6) 50% 0432 -0.023
(HI2| = IE8o]| ™ Xl ETN Al2|X)
K| (7| =RpAE Ha) 100% 0.257 -0.022
KR103502GD64 =1103250-3306(= 123-5) 16% 2.735 -0.015
KR103502GDC6 =1104125-3312(71123-11) 28% 2.740 -0.015
KAP 3*{10'4 TR x| - -
KR103502GE63 1103500-3406(= 1124-5) 46% 2.730 -0.015
(Hi2| = Zxf10E ETN Al2]|=)
KR103502GEC4 =1103000-3412(=1124-13) 10% 2712 -0.013
K| (7| E=RpAE ") 100% 2732 -0.015
KR103502GD98 = 1103625-5309(= 1123-7) 20% 2.572 -0.005
KR103502GE30 =1103250-5403(= 124-2) 30% 2.572 -0.005
KAP =x{30'd TR X| - -
KR103502GE97 1102750-5409(= 1124-8) 50% 2.550 -0.005
(HI2]X= 230 ETN A2 Z) 6
K|= (7| =L B 100% 2.561 -0.005
KR103501GD65 = 1103125-2606(= 1123-4) 16% 2495 0.000
KR103501GDC8 =1103875-2612(=1123-10) 28% 2485 0.010
KAP 3344 TR X|$= : -
KR103501GE64 1103250-2706(= 1124-4) 46% 2460 0.018
(M2| = F3E ETN Al2|X) 6
KR103501GEC6 =1102875-2712(=124-12) 10% 244 0.01
Kl= (ZIE=XHAE B 100% 2.471 0.012
KR103501GD99 = 1103500-2809(= 1123-6) 20% 2.525 0.005
KR103501GE31 = 1103250-2903(= 124-1) 30% 2.555 0.003
KAP 3|54 TR X|$= : -
KR103501GE98 1103000-2909(= 1124-7) 50% 2.560 0.003
(H2] = 259 ETN A2|=)
K| (7| =RpAE ) 100% 2.552 0.003
US91282CHP95 TIPS 1.375 07/15/33 16% 1.870 -0.109
US91282CJY84 TIPS 1.75 01/15/34 28% 1.950 -0.115
KAP O3 QI E&[0]d J&| TR X|= Al2[X)
US91282CLE92 TIPS 1.875 07/15/34 46% 1.945 -0.112
(HI2|= o= AE2[o]d JX ETN(H) o
US91282CML27 TIPS 2.125 01/15/35 10% 2.035 -0.030
Xl (F|Z=XHE B 100% 1.943 -0.104
US91282CKQ32 T 4 3/8 05/15/34 20% 4.301 -0.043
US91282CLF67 T37/808/15/34 30% 4313 -0.045
KAP O|=xi10'd TR x| —
US91282CLW90 T4 1/411/15/34 50% 4319 -0.045

(M2l = o|=2x10Ed ETN(H) Al2|=)




R|3= (7| =X ) 100% 4314 -0.045
US912810UA42 T 4 5/8 05/15/54 20% 4783 -0.081
US912810UC08 T 4 1/4 08/15/54 30% 4778 -0.085

KAP O/ =30 TR X|== _
US912810UE63 T41/211/15/54 50% 4768 -0.084

(Hi2] = o|=x430'd ETN(H) Al2l=)
Kl= (ZIE=XHAE B 100% 4774 -0.084
KR310101GD78 £0t03670-2507-02 40% 2.650 0.000
KR310102GE76 £90t03230-2507-01 30% 2.625 0.000
o

KAP SM 37HE S5 X+ —
KR310104AF38 £0HDC025-0624-0910 30% 2.590 0.000
X2 (7| XXtA H) 100% 2.625 0.000
KR310101GDAO £0t04020-2510-02 40% 2.545 0.000
KR310101GE93 £0t02890-2509-01 30% 2.590 0.000

°

KAP SUM 6708 S5 X —
KR310101GEB6 £0t02880-2511-01 30% 2.565 0.000
X5 (7|1 EXpAL BR) 100% 2.565 0.000
US9128C1J18 T41/211/15/33 20% 4195 -0.044
US91282CKQ32 T 4 3/8 05/15/34 20% 4301 -0.043
US91282CLF67 T37/808/15/34 20% 4313 -0.045

KIS O|=% 10Y TR X|+
US91282CLW90 T4 1/411/15/34 20% 4319 -0.045
US9128CLW90 T4 1/411/15/34 20% 4212 -0.044
R|a= (7| =X ) 100% 4.268 -0.044
US912810TV08 T 4 3/4 11/15/53 20% 4316 -0.083
US912810UA42 T 4 5/8 05/15/54 20% 4783 -0.081
US912810UC08 T 4 1/4 08/15/54 20% 4778 -0.085
KIS O|=X 30Y TR X|+

US912810UE63 T 41/211/15/54 20% 4768 -0.084
US912810UE63 T4 1/211/15/54 20% 4316 -0.083
R|a= (7| =X HF) 100% 4.592 -0.083




